
AP CALCULUS
LOGARITHMIC FUNCTIONS

1. log5 a + log5 b− log5 c = log5

ab

c

2. log2 x + 5 log2(x− 1) +
1
2

log2(x + 1) = log2 x(x + 1)5
√

x− 1

3. 2 ln 4− ln 2 = ln 16− ln 2 = ln 8

4.
1
3

ln x− 4 ln(2x + 3) = ln
3
√

x

(2x + 3)4

5. Use your TI-89 to check your sketch.

6. Use your TI-89 to check your sketch.

7. Use your TI-89 to check your sketch.

8. Use your TI-89 to check your sketch.

9. Use your TI-89 to check your sketch.

10. log2 x = 3

23 = x

x = 8

11. ex = 16

ln ex = ln 16

x = ln 16

12. ln(2x− 1) = 3

e3 = 2x− 1

x =
e3 + 1

2

13. 3x+2 = m

log3 3x+2 = log3 m

x + 2 = log3 m

x = −2 + log3 m

14. ln x = ln 5 + ln 8

ln x = ln 40

x = 40

15. ln(e2x−1) = 5

2x− 1 = 5

x = 3

1



16. ln x + ln(x− 1) = 1

ln[x(x− 1)] = 1

ln(x2 − x) = 1

e1 = x2 − x

x2 − x− e = 0

x =
1 +

√
4e + 1
2

17. ln(lnx) = 1

e1 = ln x

lnx = e

x = ee

18. 23x

= 5

log2 23x

= log2 5

3x = log2 5

log3 3x = log3(log2 5)

x = log3(log2 5)

19. ln(x + 6) + ln(x− 3) = ln 5 + ln 2

ln(x2 + 3x− 18) = ln 10

x2 + 3x− 18 = 10

x2 + 3x− 28 = 0

x = −7 or x = 4

∴ x = 4 since ln(−7) @

2


